Andhra Pradesh State Council of Higher Education

Notations :

1.Options shown in green color and with %" icon are correct.

2.0ptions shown in red color and with # icon are incorrect.

Question Paper Name :
Subject Name :
Creation Date :
Duration :

Total Marks :

Display Marks:

Share Answer Key With Delivery Engine :

Change Font Color :
Change Background Color :
Change Theme :

Help Button :

Show Reports :

Show Progress Bar :

Group Number :

Group Id :

Group Maximum Duration :
Group Minimum Duration :
Show Attended Group? :
Edit Attended Group? :
Break time :

Group Marks :

Section Id :

Section Number :

Section type :

Mandatory or Optional :
Number of Questions :
Number of Questions to be attempted :
Section Marks :

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Question Number : 1 Question Id : 64041116801 Question Type : MCQ Option Shuffling : Yes Display Question

Number : Yes
Correct Marks : 1 Wrong Marks : 0

ENGINEERING 26thMay 2025 Shift 1

ENGINEERING
2025-05-26 15:02:35
180

160

ENGINEERING

1
640411106

Mathematics
640411348
1
Online
Mandatory
80
80
80
0
1
640411348
Yes



The domain of the real valued function f(x) = —+ logm(x3 —X) 1s
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Question Number : 2 Question Id : 64041116802 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

: 4o x? : .
A real valued function f: A — B defined by f(x) = ~'7Vx € A 1s a bijection.
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Question Number : 3 Question Id : 64041116803 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0



Ifs =1’+2°+....+n’ and T, =1+2+.....+n. then
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Question Number : 4 Question Id : 64041116804 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

-1 x -3 102 q
If A= 2 4 z | is a symmetric matrix and B=| p 0 -4/ is a skew
y 5 -6 i_—3 I 8
symmetric matrix. then |A|+ ‘B‘ —|AB| =
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Options :
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Question Number : 5 Question Id : 64041116805 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

[-x 14x 7x 2 0 7 X X4l x42
If the inverse of | 0 1 O [is|0 1 Of.then|x+1 x+2 x+3|=
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Question Number : 6 Question Id : 64041116806 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

If the system of equations 2x+3y—3z=3, x+2y+az=1, 2x—y+z=p has

B_
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infinitely many solutions. then B
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Question Number : 7 Question Id : 64041116807 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

If a complex number z=x +1y represents a point P on the Argand plane and

_fz—3+2i"'|_?t e i o
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By taking /a+ib =x+iy. x > 0. if we get —""21+12\El —a+ib. then E:
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Question Number : 9 Question Id : 64041116809 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 10 Question Id : 64041116810 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Let f(x)=x>+2bx +2¢” and g(x) =—x> —2cx +b”. X€R. Ifb and c are non-

b lies in the interval

zero real numbers such that min f(x) > max g(x). then

f(x)=x2+2bx +2¢? H80» g(x)=-x>—-2cx+b%, xcR @588 b, ce
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Question Number : 11 Question Id : 64041116811 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

If x> —4ax+5+a >0 forall xeR whenever a < (¢..p). then AB+a =

a € (a.p) wondsipiier, o) XeRoH x?—4ax+5+2a>0 ©ond, AP+o=
Options :
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Question Number : 12 Question Id : 64041116812 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

If o.p.y are the roots of the equation x? —12x? + kx =18 = 0 and one of them is

thrice the sum of the other two roots. then ¢? +p* +vy* —k =

2
¥} —12x? + v —18=0 $H%8s0 Ging) sreen .,y Hbdin B 258 MWADS
Both Horere dnaedd St Bty wond, o + 53 + ~I.r2 —k=
Options :
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Question Number : 13 Question Id : 64041116813 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
The polynomial equation of degree 5 whose roots are the roots of the equation
x> —3x* —x? +11x? —12x + 4 =0 each increased by 2. is
x° =3x* —x? +11x% ~12x + 4 =0 3DE8m0 @nE) Hrored B8 2 Sobm
é?:g; Dendensy Sorerenre KOAS 55 S5K58 aoHd H&gsmo

Options :

x> —13x* +63x3 -135%x%2-108x =0

1. ®

x> —13x*+63x> +135%x%+108x =0
2. #

x> —13x*+63x° —135x2 +108x =0
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x° —13x* —63x® —135%x% —108=0
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Question Number : 14 Question Id : 64041116814 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

The number of positive integers less than 10000 which contain the digit 5 atleast

once 1s
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Question Number : 15 Question Id : 64041116815 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

5 men and 4 women are seated in a row. If the number of arragements in which
one particular man and one particular woman are together is '¢' and the number

of arrangements in which those two are not together is (. then a:p=
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If a team of 4 persons is to be selected out of 4 married couples to play mixed
doubles tennis game. then the number of ways of forming a team in which no
married couple appears. 1s

eeni®) arard e208e ol Senlhlh dsfen Ko a8 stnih hiEdh sobe SR sbib
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Question Number : 17 Question Id : 64041116817 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

In the binomial expansion of (p—q)M. if the sum of 7™ term and 8 term is zero,

p+q
then. — =

. pPtq
(1)—([)14 Gin¥) E5es HYBesd”, 78 oban 85 Hore dwdo Hif) 200, —" -
Options :
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Question Number : 18 Question Id : 64041116818 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0



: . . 1
The numerically greatest term in the expansion of (x+ 33«')13. when X=— and

Question Number : 19 Question Id : 64041116819 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

If ) =f(x)+ & hen f(-2)+A+B
x—1)(x—2) O T e i
4 )
X A B
———=f(x)+ + 03, @svd f(-2)+A+B=
(x—-1)(x-2) @Y T PR 2
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Question Number : 20 Question Id : 64041116820 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 21 Question Id : 64041116821 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
(. ) afm )
If tﬂu| I+ a ‘ = tan ‘ Z+ B |. then tan(c +B)cot(a—B) =
%S / \ J

i

(T (S :
7 B | o8, exps tan(a+p)cot(ac —p) =
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A
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tan! —4+ ;: tan"
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Options :
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3. ¢
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Question Number : 22 Question Id : 64041116822 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

IfA+B+C+D=2%.then sinA+smB+smnC+smD=
A+B+C+D=271 wona sinA +sinB+sinC +sinD =

Options :
2 i ;.fA+C‘.’A+D‘
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]. % LY Fy LY )
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Question Number : 23 Question Id : 64041116823 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

Ifg<x<3

and 0 <y =<3, then the number of solutions (x. y) of the equation
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Question Number : 24 Question Id : 64041116824 Question Type : MCQ Option Shuffling : Yes Display Question

Number : Yes
Correct Marks : 1 Wrong Marks : 0

If §=Tan ! |f % ‘ +Tan™! | é, 55 :
\ 7} 3

\ oS

then tano =
4 1) T s 1) af 17 1
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Question Number : 25 Question Id : 64041116825 Question Type : MCQ Option Shuffling : Yes Display Question

Number : Yes
Correct Marks : 1 Wrong Marks : 0

If Tanh'x = Coth™ y zlog\/’g- then Tan™’ (x¥) =

Tanh 'x = Coth 'y =log+/5 ®ond, Tan ! (xy) =
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Question Number : 26 Question Id : 64041116826 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

In triangle ABC.1f C =120°. ¢ :\f@ andb=3.thena=
(@2heso ABC &8 C =120°, ¢ =+/19 56a5 b=3 eond, a=
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Question Number : 27 Question Id : 64041116827 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Ina AABC. 2A + C=300°. If the circumradius of the AABC is eight times its

. . . C
mradius then sm? =

—

2. |Bghaso ABC &P 2A +C=300°. AABC ) é-n:’iaﬂe}ié chgﬁgo ord) ®oas E.‘Jefg
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Question Number : 28 Question Id : 64041116828 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

31
In AABC.ifa=5.b=4andcos (A-B) =__.thenc=
%1
AABC &° a=35,b=4 580w cos (A — B~ 3 900, ©PEH € =
Options :
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Question Number : 29 Question Id : 64041116829 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

If the line joiﬂjng the points i +2j and j— 2k intersects the plane passing through

the points 21— j. 2j+3k d k—21 at T. then ?.(T+F+E)=

Jﬁ Qan k 2 LJO&J;’}‘Q-'

142] H066%0 j—2k dothdeH E0H By, 2i—j.2j+

F" |

rowe TG Serd) T 58 gob& D T. (i+ i +]f~.)—

Options :
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Question Number : 30 Question Id : 64041116830 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0



Let i—2j+k. i+ j—2k.2i— j—k and i+ j+k be the position vectors of
four points A. B. C and D respectively. If a point P divides AB in the ratio 2 : 1
internally and a point Q divides CD in the ratio 1 : 2 externally. then the ratio in

which the point with position vector 51 — 6 j — Sk divides PQ is
1-2j+k.i+j-2k.21—j—k %060 1+ j+k en 555 A, B, C 8o D
dothaye ﬁgé Shdodborro. Ped 2 Dotk ABD 2: 1 ﬁ:@géﬁ wosBorrir
$oBchr Q ed a8 Doty CD O 1: 2 .'-’.}c“cajé@’s BP0 esen, PQ & 5i-6j—5k
=L SoEr o Hoths 520D DS
Options :
211
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Question Number : 31 Question Id : 64041116831 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
The vector equation of a plane passing through the line of intersection of the

planes T.(i —2k)=3. 7.(2j +k) =5 and the point i +2j+3k is
T.(1-2K)=3.T.(2] +k) =5 o3 Sere gosd Oy Howerdr, ook 1+2]+3k
Dothsy ooe §8aH a.f oo g Do H&nsdso
Options :
. r.(1+43)=13
. T(i+6j+k)=18

T(i+2j-k)=8

3. %

T.(1 +8j+2k)=23
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Question Number : 32 Question Id : 64041116832 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0



If a=i+j. b=2j—k are two vectors such that Txa=bxa, Fxb=axDb-
then the unit vector in the direction of T 1s

a=1+j.b=2j-ken Txa=bxa, Txb=axb edhgeyr & Boh 56588
T B¥6° chomDes 563
Options
0
11 )
1.
1 @370
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2. #
B
I3
3. %
i s ws =
(14 ] k)

Question Number : 33 Question Id : 64041116833 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

If 7. b. T are three unit vectors such that ax(bx?) :£E+£ and o[ are the
2

angles between a.C and a.b respectively. then o +B=

sy = = T

a,b.c en Aax(bxT)=—7Db+ Hi wabgtenre i) Sweth el DT HBSM

o B en HHHre AT Hbdaw T,b © Higy Ko Swren wond, o +p=
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Question Number : 34 Question Id : 64041116834 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

Variance of the following continuous frequency distribution 1s

Bob &“mﬂé PP Deresarld 058

Class Interval |0—4 |4—-8 | 8-12 [12-16
#85HE =osbo

)
)
—_

Frequency |
Fedesddso

Options :
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Question Number : 35 Question Id : 64041116835 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

All possible words (with or without meaning) are formed by taking atleast
2 letters (all different) from the letters of the word 'CURVE'. If a word is chosen
at random from all the words thus formed. then the probability of getting a 3
letter word 1s

'CURVE '3 $8506% efore $08 &0 Both wioed ('S:“.{:J‘ DEYFRD) BHHD
ﬁlg“ﬁ&f{g_ Soeedn (ﬁafgaﬁw?ﬁc@, S2D) &'fﬁ;ﬁi’-“ﬁj. e 'E;Jé*-&;&. Sore Hod s ajc:vn&

SirefyBore QomE P, a8 3-efvre HSoed) rotieel He Hograid

Options :
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Question Number : 36 Question Id : 64041116836 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Three numbers are chosen from 1 to 30. The probability that they are not three
consecutive numbers 1s
1 Hod 30 S8H Ke Dogge Dol St Hogyen dous édﬁjmm;mj. @3 Hrth HHD
Qoggen 5°H06° GoKERRE N Hograys
Options :
1
145

142
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145
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Question Number : 37 Question Id : 64041116837 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
If two events A and B are such that P(A)=0.3. P(B)=0.4 and P(A~B)=0.5.
then P(B/(A UB))=
P(A)=0.3.P(B)=0.4 &8 P(A~B)=0.5 edginr AHdcn Both {péxden

20D, wspth P(B/(Au B)) =
Options :



Question Number : 38 Question Id : 64041116838 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

Two candidates A and B have attended an interview conducted by a recruitment
board for two jobs. If the probability that canditate A will get the job 1s 0.8 and
the probability that candidate B will get the job 1s 0.7, then the probability that
atleast one of them will get the job is

Co é‘:c‘?}““ﬁ% B0 a8 Achars 3556; ALETODRD a8 BOLErS 5 afh ©ff 53%
Sobatn B SPastaimgh. -:me,‘fﬁ A 1563)““@1«4  BPotee8 & Dogrsgd 0.8 shbdin egf 6 B
5 ﬁﬁ’“w&"“:_ FPOSTR8 Dogriygs 0.7 wom o3, 57668 €D%0 a.th @ ﬁﬁﬁémﬁ‘& srotSmeR)8
e DogrsgH

Options :

. 0.96
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3 % 0.92
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Question Number : 39 Question Id : 64041116839 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

X denotes the number of times heads that occur in n tosses of a fair coin. If
P(X=4).P(X=15) and P(X = 6) are in arithmetic progression, the largest value of
n1s

a8 D88 Teerd) N ety AHEID HBeK0Ed BofDod fPine Soggd Soo-d
X &rdod. P(X =4). P(X =5) £8amm P(X = 6) en @0¥@8&° o8, n Ging) 185

Send
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Question Number : 40 Question Id : 64041116840 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

The probability distribution of a random variable X 1s as follows. Then the mean
of X 18
2.8 dirthE Sovrd X @ng) Sograse degresdsn (od HRorr o, wipth X ang)

Slei=bulalvvle)

-2

X=x, =2 | =] 0 1
P(X=x;)| k*/3 | k* |2k?/3 | k/2 | k/2

Options :
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Question Number : 41 Question Id : 64041116841 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0



A4, 3), B(2, 5) are two points. If P is a variable point on the same side as that of
the origin with respect to the line AB and is at most at a distance of 5 units from
the midpoint of AB, then the locus of P is

A(4,3),B(2, 5) e Boih Dochiden. P o . S8Docsxd), Bn AB cﬁ(ﬁgé Samer Dot
&Eﬁgﬁ&j}ﬂ ot hboln AB aing) DHogiy Blocsxy Hod r“iﬁeg{orw 5 ofofiexn oot
08, esypth P g Blodheigialn

Options :

x2+y2—6x—8y:0

1. %

X2+y2—6x—8y =0,x+y-7<0
2.9

X 4y +6x+8y—-25=0,x+y-7<0
3. %

X2+y2—6x+8y20,x+y—?<0
4. %

Question Number : 42 Question Id : 64041116842 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
By shifting the origin to the point (2, 3) through translation of axes. if the equation

~ 2 2 =
of the curve x“ +3xy -2y~ +4x — v —20=0 is transformed to the form

Ax® +Bxy+Cy? +Dx+Ey+F=0.then D+E+F=

I

Eﬂﬁ

OFOR

Hirostorr HB5EN Vabio ooe e Aothiid (2, 3) Hoths) & Ec’écu Srtio

U

S Higo x2 + 33Xy — h +4x—y—-20=0 wg, BEnESeasn
Ax? +Bxy+Cy? +Dx+Ey+F=0 &3 Srar08 56585 3068, D+E+F=

Options :

1. -1



Question Number : 43 Question Id : 64041116843 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

L 1

The points (2. 3) '111(1 = —?; lie on the opposite sides of the line

L=5x-6y+k=0 and k 1s an integer. If the points (1. 2) and (4. 5) lie on the
same side of the line L = 0. then the perpendicular distance from origin to the line
L=01s
f / \.
(2.3) mm‘i—4- - | othiHen L=5x—6y+k =0 $5680% shgHe eazgon
' = )’
Bcsn k 2.8 S "ém@ﬁ_}d (1.2) £08c5m (4, 5) DothHen L =0 38¢0p5 .-wémjﬁ &08,
Sore Sothy)y Dol L =0 5% Ko soaisrso

Options :
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Question Number : 44 Question Id : 64041116844 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
If the incentre of the triangle formed by the lines x—2=0. x+y—-1=0.
X-y+3=01s (a.B). then B=
Xx—2=0.X+y—1=0. x—y+3 =0 O 28 (Bebeo GnY) w038 Soo (a.p)
0D, B=
Options :

5
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Question Number : 45 Question Id : 64041116845 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
If the equation of the pair of straight lines intersecting at (a. b) and perpendicular
to the pair of lines 3x* —4xy+5y” =0 is /x* + 2hxy + my~ —32x - 26y +c=0.

a+b+c

then ————=
I+h+m

G 4xy + Syz = () BgrcinmR8 eomore dotoe 8ckn (a. b) Hothsh &8 HOB0HEH
ﬁfﬁ@b‘aﬁdﬁn@o @Dé& S&uEs8mo Jx2 + 2hxy + 111}'2 —32x-26y+c=0 ©ONS, SFlay

a+b+c
I+h+m
Options :
38

>
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Question Number : 46 Question Id : 64041116846 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0



PQR i1s a right angled 1sosceles triangle with right angle at P(2, 1). If the equation
of the line QR 1s 2x + y= 3. then the equation representing the pair of lines PQ
and PR is

P(2,1) écg ooe8%a08 PQR &8 ©o028%s RxnBreraro (@4hassi. om QR inls) 58880
2x +y=3 wons, PQ 58cwm PR &5 Srdod ﬁé@‘é&wcﬁ})ﬁé@ 5880

Options :

3x%— 3y’ —8xy—10x—15y—-20=0

1. %
. 3x7 — 3y +8xy +20x +10y +25=0
3x% —3y” +8xy—20x —10y +25=0
3.9
) 3x? —3y> +8xy+10x +15y+20=0
4.

Question Number : 47 Question Id : 64041116847 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
The circles x* + yz —2x—4y—-4=0 and X yz +2x+4y-11=0
x> +y? —2x—4y-4=0 %860 X +y +2x+4y-11=0 Hzeen

Options :
Cut each other orthogonally
2,800 88 eomorr pododhthotron
1. ®
do not meet
2 B8 a8

2. %

intersect at the points lying on the line 4x+8y—-7=0

3 ¢ 4x+8y-7=0 6&3}‘_} &0t HohHe étg Ho&ohEotron

touch each other at the point lying on the line 4x+8y—-7=0

4x+8y—7=0 Bad &0B HoHPH 3¢ a.EATES 73) J8othEoéron
4. % N

Question Number : 48 Question Id : 64041116848 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes



Correct Marks : 1 Wrong Marks : 0
If the line 4x —3v+ 7 =0 touches the circle
x> +y?—6x+4y—12=0 at (o.B). then o+ 2p=

4x—-3y+7=0 B x2 +v —6x+4y—12=0 Hz=& (0.P)SE & \\% oa+2p=

Options :

1. ® 3

=ik

Question Number : 49 Question Id : 64041116849 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
The slope of the common tangent drawn to the circles

x2+y? —4x+12y-216=0 and x? + y*> +6x—12y +36=0 is

3{2+}*2—4x+12y—216:0 B0 x2 +} +6x—-12y+36=0 ©d HEosH
;\{?Du &*{"J ﬁé};& {"J 56‘5] (ﬁl}&e R Y

Options :

3. ¢

4.%

Question Number : 50 Question Id : 64041116850 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0



If r; and 1, are radii of two circles touching all the four circles

[ +1
(x+1)* +(y+1r)> =17, then 12 =

.
12 <2 _ -2 . & = . N e e o
(xt1) +(yx1)" =I HEmen oA 1y H80T Doth Here gRPTEeD Iy, I en
I +1
woms, L2 =
I
Options :
J2+1
2
1. %

Question Number : 51 Question Id : 64041116851 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

If the equation of the circle having the common chord to the circles
x*+y +x-3y—-10=0 and x? + v +2x —y—20=0 as its diameter is

x* +y” +ax+Py+y=0,then a+2B+y=

x> +y7+X-3y-10=0 60 x*+y* +2x-y-20=0 Have &5y8 w5
TgssnT SOAS Hdsn Hsdesn XX +yT +ox+py+y=0 ed, a+2P+y=
Options :

0
1. ¥



Question Number : 52 Question Id : 64041116852 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

If x — y—3=0 1s anormal drawn through the point (5. 2) to the parabola y2 —4x.
then the slope of the other normal that can be drawn through the same point to
the parabola y? = 4x is

X-y-3=0 =38 yz = 4x Hordedierd8 (5, 2) Do Howe ADS wdeowdy

wond, 88 Hoh) Howe yz — 4x Sordedird8 ACHKDAS 5% edeoaby sren

Options :

1. % 0
2. % =1
3. % 2
4.9 2

Question Number : 53 Question Id : 64041116853 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

. [T ,
If the normal drawn at the point P| — ; on the ellipse x? +4y% —4 =0 meets the
\ - J

ellipse again at Q(a.p). then g =

o

o

2 o ( T o
e +4y"—4=0 &fj_é)&\éo_;._s P;\IJ Doty 58 ADD edeo=lm, &8 5&@%_ SHBA

Q(a.B) 5 908D, a =
Options :
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-
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2.
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Question Number : 54 Question Id : 64041116854 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

If g 1s the angle subtended by a latus rectum at the centre of the hyperbola having

-

eccentricity — == then sin® =
LA N

-

®

PR SRR e e ;
= \/r: SE)0(BSmT ?5‘?,-55 ©8 Hordecho ans) a8 T°8) eowo, ool BoBo rf;t‘é’ S
| — ) = H J

&0 g wows, sinf=

Options :

. B 5]
SIN —+ COS—
2 2

-

1—(:05-;9
2

Question Number : 55 Question Id : 64041116855 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The tangent drawn at an extremity (in the first quadrant) of latus rectum of the

2 2
hyperbola i =1 meets the x-axis and y-axis at A and B respectively.

If O is the origin, then (0A)? — (OB)? =

2 2

x
@® FoEtecho ?—%=1 G TPeoonsd e.d B (T e o) i} A%

éﬁ@éa} X200 HBckn ¥ -egraih e A baln B & #d gosdgol. O Hoodothsh
wond, =iy (0A)” — (OB)” =



Options :

20
1.¢ ?
16
9
2. %
4
9
3. %
4
3
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Question Number : 56 Question Id : 64041116856 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
The points A(—1. 2. 3). B(2.-3. 1). C(3, 1,-2)
A(-1, 2, 3), B(2. -3, 1), C(3, 1, -2) &oHHen
Options :

are collinear

L S O8asmen
form an isosceles triangle
S a8 Sshbard 83hard)) adBidzon.
form a right angled triangle
2.8 eoa&ls (@2hHerdy HE TR0
3% = M
form a scalene triangle
v 28 DXgherso (B3herd) A haron.
4.+ -

Question Number : 57 Question Id : 64041116857 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0



e ; . , s
The direction cosines of the line making angles —. . and 6 | 1‘ D B <

o
4
respectively with X, Y and Z axes are

X. Y Z0b6c5m ZPE‘S"‘LP& Htodre Z Pﬁ&cﬁw 6 f{} Q< — ‘ Eferey T O @)

\

68 B en

Options :
111
33
1.
1143
279" 3
2. %

Question Number : 58 Question Id : 64041116858 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

If the equation of the plane passing through the point (3. 2. 5) and perpendicular

to the planes 2x—3y+5z=7 and 5x+2y—-3z=111s x+by+cz+d=0. then

2b+3c+d=

(3. 2. 5) Dothsh omesar, 2X—3y+5z2=T7 Hb6cm 5x+2v—-3z=11 dered

©ODOMT ﬁoé Soo GnE) HE0Ede0 X+by+cz+d=0 oond, 2b+3c+d=
Options :

1. % 0



Question Number : 59 Question Id : 64041116859 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

lim[x —log(cosh x)]=

X—

Options :

, D
l.% =

Question Number : 60 Question Id : 64041116860 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

lim [.{/:{3 + 4% —\/:{2 _3x ):

x—00

Options :

17

6
1.
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6
2. %
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Question Number : 61 Question Id : 64041116861 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0



sina({x—{x])
e *  if x<1
If a real valued function f(x) == b+1, i x=]
2y 1)
[X7+x-2] e g
x—1

1s continuous at x = 1. then b sina =
([x] denotes the greatest integer function)

sma({x—{x])
| =1 . X<1 oond
f(x):J b+1 ., X=1 eoommad
2
[|x"+x-2] _
[ ] ? 2oNS
o3 a8 P Hwreg (Hibabo X =1 58 wONHPS, bsina=
([x] @38 B85 rpol {3.’}331:}5?3& A D06)
Options :
1. % .
4
2. %
log_ 9
3.¢
3
log, 2
4. %

Question Number : 62 Question Id : 64041116862 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

dy
If sinX./coSy —cosy4/sinX =0, then ——=
SINX,/COSY —cosy+/sinX =0. then £

r

. dy
SINX4/COSY —COS y/sinx =0 ©ons, =

dx

Options :
fan x



—Ccot X

Question Number : 63 Question Id : 64041116863 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

If f(x)=2+ ‘Sill_l X| and A ={x eR/f!(x) exists}. then A=

f(x)=2+ ‘Sm‘1 x‘ oot A={xeR/fl(x) &do} wipd A=

Options :
R,

[-1.1]

2. %

(—oo.—1) (1)
3. %

L (—1.0)w(0.1)

Question Number : 64 Question Id : 64041116864 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

. dy
If ¥ = (log, sinx)* then o
7 o X (l}"
y = (log, sinx)* wond i

Options :

Xsinx . 1
y| ———+log(logsinx) + —log(logx)
. logcosx logx

I.

—log(logsinx) +

| Xeosx
" | logsinx logx

+ lag(logx)}

2. %



| Xcotx

—+ log(logsinx) — —log(logx)
logsinx logx |
3.¢¥
Xcotx .
7| ————log(logsinx)+ —logx
logsinx logx
4. %

Question Number : 65 Question Id : 64041116865 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

If the area of a square 1s 575 square units, then the approximate value of its side

1s

2.8 HBRo dng; Fvegsin 575 S8 cifa:t-?)@é. ord) ghesiinn GIng) Haonor) Henid
Options :

| o 239792

23 7903

23.7868

Question Number : 66 Question Id : 64041116866 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

If the tangent of the curve 4y° =3ax? + x> drawn at the point (a, a) forms a

triangle of area — sq.units with the coordinate axes then a =

4y* =3ax? +x° Hs°08 (a. a) HotHDH 5 AN B)SPy Vorsegsnes® D853 (Bebe

)
25 ;
S3°e0 5. Ghirléy ©ond, a=

24"

Options :

% +10

I+
LA

[+
=y}

3. %
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Question Number : 67 Question Id : 64041116867 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
If the function f(x)=sinx — cos’ x is defined on the interval [-mn. «t]. then f is
strictly increasing in the interval
y : 9 : . y e
EEhoto f(x)=sinx —cos” X e36 [-n, 1] ®os508° DkDowadad, f HE eb%rmore

&00 wos8o

Options :

(=571 —m) ‘
L& e T B2
1. %
b
[ o)
a7 |
2. % 28
[ =57 :'t*‘
\ 6 7o)
3% a
(=57 —1 o (- 11:“‘
4«?‘ 6 2. 6 2

Question Number : 68 Question Id : 64041116868 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

If the Lagrange's mean value theorem 1s applied to the function f(x) =™ defined

on the interval [1. 2] and the value of ¢ =(1.2) 1s k. then ek l=

[1.2] wostom DB DoHdS [Habcso f(x)=e" 8 Birrozt ?35;0@’35’:& @Eﬁjé@@é’ﬁﬁnd}
F80f c € (1,2) G Do k wond, e =
Options :
L 2

2.\&9@—1

3. ® et+1



Question Number : 69 Question Id : 64041116869 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

IfJ. i +1 {IXZAX3-I-B}{z—i-C'X-I-DTa]]_lX-I-E__then A+B+C+D=
x>y

+1
J.X ldx—ﬂm +Bx?+Cx+DTan x+E wonad, A+B+C+D=
X°+

Options :

b2 | o

W |

2.¥

W | =

o | kD

4.%

Question Number : 70 Question Id : 64041116870 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
— X472 s : 2 g i
If| ——— —dx=x—log f(x))+—=Tan (g(x))+c.
xZ+x+2 7
then f(— +\/_ g(—1)=

532 2 1
—dx=x-log (f(x))+—=Tan (g(x))+c
'[ X X2 37

0 +\/_ 0’( l)—

Options :

1
1.

2. %



-2

Question Number : 71 Question Id : 64041116871 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

Fi :l'c \ f j't y
I 5ec| o |sec‘ . e ‘dx:
T Y

Options :

f T
sec| X —— |
\ 3
log ; S| FE
i T
sec| X +— |
| 6
1. %
(
cos| x —— ‘
\
log +c
e { :
4 B e |
cost X+ |
2.9
i T ]
cosrec'1 T ‘
log S .
( T |
cosec| X+ — ‘
3 % 6 )
. i T )
sin| x —— |
v 3
logl/——|+¢
- iff T
sin| X+ — |
| 6 )
4, %

Question Number : 72 Question Id : 64041116872 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

ACOSX +3sinXx 26 k .
Ifj c_ ——dx=—x——1Ilog Scosx+251nx|+c.then |a+k|:
Scosx+2sinx 29 29
acosx +3sinx 26 k :
I : — dx =—x ——log|5cosx + 2sinx|+ ¢ wowd, [a+k|=
Scosx+ 2smx 29 29



Options :
3

1. %

)

Question Number : 73 Question Id : 64041116873 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

d.- o ')
Ifj 1_7\4:}‘1 tanx + BTan l(ﬁtanx)JrC.thEll A?-B’=
—sin” x

J. —d': —Atanx +BTan ' (2 tanx) + C. eond A? -B? =
l—sim x

Options :

| —

Je |

[a—

oo | =

Question Number : 74 Question Id : 64041116874 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
1
Ix Sin”' xdx =
0

Options :

8
1.
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2. %
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=
3 % 12
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Question Number : 75 Question Id : 64041116875 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

sin(X —[x])dx =

t——yta | =

2| =

(Here [x] 15 the greatest integer function)
(=8 [X] 1565 syroeol shadho)
Options :

1. ® 0

3(1—cosl)+smn2—sinl
2.9

3(1—-cosl)+cos2—sinl

4 % €Os2—sin2

Question Number : 76 Question Id : 64041116876 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

-

)

IXE(Z —x)’ dx =

0
Options :
128
21



2. %

32

21
3. %

16
4. %

Question Number : 77 Question Id : 64041116877 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

If f(x)=Max{x’ —4.x* —4}. and g(x) =Min{x*. x’}. then
1

[ ) —x) dx=

b,

f(K} = TVIHI‘{{){E — 4, X4 — ‘-I-} s06c5m g(XJ = h-'Ii]_]{Xz. Ks} @Q_j}%,

1
[ 60 - g(0) dx =
-1

Options :
151
)
1. ¢ Z
20
2. %
131
22
3. %
6'_.
4. % 9

Question Number : 78 Question Id : 64041116878 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0



B
Ify=At’+ Fl (A, B are parameters) is general solution of the differential equation

f(t) y" () + g®y' () + ht) y = 0 then 2f(t) +t* h(t) =

fOv" O+ gy () +h() vy = 0 ed&es $&dtno Gy, argreten g5

2 B 2
y=At"+ " (A, B e Sordoelorn) wond, 2f(1) +t° h(t) =
Options :

g(t) —h®)
g(t) + 1)

g® fit)

(f(t)s®

Question Number : 79 Question Id : 64041116879 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The general solution of the differential equation

(2x —y)2dy-2(2x-y) dx —2dx =0 is

(2x — v)2dy — 2(2x — y)?dx — 2dx = 0 @s80s $Esmo GoE) eprtes P
Options :

| log(2x —y)=2x+¢

(2% = }-')3 +4y=c
2. %

(2x — }-’)3 +6x=cC
3.9

log(2x—y)=2y+c
4. %

Question Number : 80 Question Id : 64041116880 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0



The general solution of the differential equation xlogx dy =(xlogx —y)dx is
xlogx dy = (xlogx — y)dx o3 eodged $5HH88no @nt Jreets F6S
Options :

(x—y)logx+x=c

1. %
X
X—¥= +C
) % logx
—X=—+C
logx
3. % -
(y—x)logx+x=c
4.+
Physics
Section Id : 640411349
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 40
Number of Questions to be attempted : 40
Section Marks : 40
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 640411349
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 64041116881 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
The number of significant figures in 0.03240 is
0.03240 &° el Rogge Hogy
Options :

1. % S

2.9
3. %

4. %



Question Number : 82 Question Id : 64041116882 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

A ball projected vertically upwards with a velocity 'v' passes through a point P in
its upward journey in a time of 'x' seconds. From there. the time in which the ball
again passes through the same point P 1s

V' 3K0&° ﬁjﬁu"“&ﬁm 28 D8N a8 wod el é‘saé B%¥ (Ho5reos® P o3 DHothdso
X' 2830 sreost oB86. ol Dok @ 208 e o8 Hothsd P & orentr®d Hew
5000

Options :

2.%  ©

Question Number : 83 Question Id : 64041116883 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Three vectors each of magnitude 3,/] § units are acting at a point. If the angle

T
between any two vectors 1s 3 then the magnitude of the resultant vector of the

three vectors is
E88 34/1.5 [B&reren H05re0 Ko dortdh $6HEen 2.8 Hothy & Cg HABE0H5D.

(=5

T
o) BotH K6 H iV &0 T@o:ac 23 0Pt HhEe HOE D68 HBSrmo

Options :

943 units (&reeen)

1. %



9 units (|$55mesmen)
2.

\/E units ((B&remen)
3%

3 units (|$55rearen)
4. %

Question Number : 84 Question Id : 64041116884 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
A vector perpendicular to the vector (41—3]) is
(41-3)) 564 oomore Hot JH6F

Options :

% 41+3]

Question Number : 85 Question Id : 64041116885 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

If the breaking strength of a rope 1s 3 times the weight of a person. then the

maximum acceleration with which the person can sately climb up the rope 1s
(g - accelereation due to gravity)

2.8 &th, a¥ 8 adwg) — HodH groed) FBoSKOAS, & & $5¥05H08’ e 358
Zobggore 28 QERNBNY), @8l Kby Sib,o

[ o ol o ol
(g - tHthe &ieso)

Options :

(SO [=]



4 L=]

2. %

g

3
3.9

2g
4. ® 3

Question Number : 86 Question Id : 64041116886 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

A block of mass 2 kg is placed on a rough horizontal surface. If a horizontal
force of 20 N acting on the block produces an acceleration of 7 m s in it. then
the coefficient of kinetic friction between the block and the suface is
(Aceleration due to gravity = 10 m s7)

2.8 B8es 5air0s8 H® Soop 2kg (555078 Ko 2.8 B tolelSt. By SOV
2.8 882 Jsrosd awo 20N aa;ééﬁ LenHEDS Weso 7 m 52 eaomd &53@&3, sted)
sty KBE o8ge heeso

(Mo Sxseso = 10 m s72)

Options :

2. W O3

Question Number : 87 Question Id : 64041116887 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
If a position dependent force {3}(3 —2x+7)N acting on a body of mass 2 kg
displaces it from x = 0 m to x = 5 m. then the work done by the force is
2 kg (555078 Ko a8 55 i R0 SEEEHE DO0 (3}{3 —2x+7)N 5038z, ©
D X=0m Hod x=5mH ﬁgé{g‘;ﬁoéo J0BoDS, & awo DHH HY
Options :
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Question Number : 88 Question Id : 64041116888 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Two smooth inclined planes A and B each of height 20 m have angles of inclination
30° and 60° respectively. If t, and t, are respectively the times taken by two
blocks to reach the bottom of the planes A and B from the top. then t, —t, =
(Acceleration due to gravity = 10 m s7)

8588 20 m ) He A HbBdin B o Both shfgps 8
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Question Number : 89 Question Id : 64041116889 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
The moment of inertia of a solid cylinder of mass 2.5 kg and radius 10 cm about
its axis 1s
2.5 kg (65850°8 s06cin 10 cm at:avigcl Ko &
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Question Number : 90 Question Id : 64041116890 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

A body of mass 2 kg is moving towards north with a velocity of 20 m s™ and
another body of mass 3 kg is moving towards east with a velocity of 10 m s,
The magnitude of the velocity of the centre of mass of the system of the two
bodies 1s

2 kg (653855078 Heo 2.8 &) 68564 3:55% 20 ms™ Stto&® Hbain 3 kg (53508 He
Sy Srdndd BHS% 10ms™ Elafols s Sthenhif)d). © Dot HPe NP (BHgod
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Question Number : 91 Question Id : 64041116891 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

If the function sin’et (tis time in second) represents a periodic motion. then the

period of the motion is
SRt . e T3 S&0Y e R G PRy Ry g, 5
(Bebcho simel (t-sroo E0HE’) 6dd w8 Seaed) rdRy, @ Jodo dng)

288 sPe0

Options :



2.

2m
=g
D)

4, %
Question Number : 92 Question Id : 64041116892 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

On a smooth inclined plane. a block of mass M is fixed to two rigid supports
using two springs. as shown in the figure. If each spring has spring constant k.
then the period of oscillation of the block 1s

(Neglect the masses of the springs)
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Question Number : 93 Question Id : 64041116893 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The acceleration due to gravity at a height of [\E —I)R from the surface of the

earth 1s
(Acceleration due to gravity on the surface of the earth = 10 m s~ and R is radius
of the earth)

e 656800 $08 (V2 -1)R 2 55 ooy dxseo

(e 658800 HHE &vndn 10ms™? Héahn R obhks o aﬂéiﬁg}o}
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Number : Yes

Correct Marks : 1 Wrong Marks : 0



If the given graph shows the load (W) attached to and the elongation (Af) produced
in a wire of length one meter and area of cross-section 1 mm?, then the Young's
modulus of the material of the wire is

Bkl [rrd el Soesb grs SoPhato 1 mm? éoqsegﬁbjié S50 i 2.8 B EPDOSDBS
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Question Number : 95 Question Id : 64041116895 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

A wire of length 20 ¢m 1s placed horizontally on the surface of water and i1s
gently pulled up with a force of 1.456x107 N to keep the wire in equilibrium.
The surface tension of water is

20 cm ERED Ko &8 KD, DB 6563003 &8s Hrodbore 409, XS éﬁ@*?&%eﬁ“
sos08 1.456x1072 N 2008 Dorr 28 eurdh. oond H@ Seodis

Options :
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Question Number : 96 Question Id : 64041116896 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

If some heat 1s given to a metal of mass 100 g, its temperature rises by 20 °C. If
the same heat is given to 20 g of water. the change in its temperature (in °C) is
(The ratio of specific heat capacities of metal and water 1s 1 : 10)

100 g (55078 He 2.8 5508 BP0 6agm sh, oo és“‘u’ﬁ 20 °C 2:6R0H. @03
spf) asktio By 20 g 58 ﬁsguiéé’s 2&be (°C &)
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Question Number : 97 Question Id : 64041116897 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The ratio of the efficiencies of two Carnot engines A and B 1s 1.25 and the
temperature difference between the source and the sink is same in both the
engines. The ratio of the absolute temperature of the sources of the engines A
and B 1s

A $8a5 B @t Soth 506’?:1 dholgre Ede GG 1.25 H6ck» BoH chHoleres®d
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Question Number : 98 Question Id : 64041116898 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The heat supplied to a gas at a constant pressure of 5x10° Pa is 1000 kJ. If the

volume of gas changes from 1 m® to 2.5 m’. then the change in internal energy of
the gas is

256 $%50 5x10° Pa 58 a.8 arainiyd S¥or 32558 &0 1000 kJ. o508 $od0850me0
1m0’ %08 2.5 m’ % 5768, & arcind) wossy $88° Hrdy

Options :
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Question Number : 99 Question Id : 64041116899 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

When an 1deal diatomic gas undergoes adiabatic expansion. if the increase in its
volume 1s 0.5%. then the change in the pressure of the gas is

2.8 ed) Bxpiterend araingy %5%;5 ;ﬁégat:m?ﬁ éﬁéjjsne:-&éé'gjpc‘g, A AS VN e o Te L RHA)
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Question Number : 100 Question Id : 64041116900 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
To increase the rms speed of gas molecules by 25%. the percentage increase in
absolute temperature of the gas is to be
28 arcingd ang) emde ms SED 25% oHbh, @ srand S eﬁjlﬁé‘éﬁ

oddehy FéEo
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Question Number : 101 Question Id : 64041116901 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

When both source of sound and observer approach each other with a speed equal

to 10% of the speed of sound. then the percentage change in frequency heard by
the observer is nearly
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Question Number : 102 Question Id : 64041116902 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

According to Rayleigh. when sunlight travels through atmosphere. the amount
of scattering is proportional to n™® power of wavelength of light. Then the value
of 'm' is

o) 5’56:51&53 Dore, frarariteac TRoe Srdseos @dﬁ?ﬁoé&-@aﬁ-, éﬁéﬁm 2B3rmo
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Question Number : 103 Question Id : 64041116903 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

In Young’s double slit experiment, if the distance between the slits 1s 2 mm and
the distance of the screen from the slits 1s 100 cm. the fringe width 1s 0.36 mm. If
the distance between the slits is decreased by 0.5 mm and the distance of the
screen from the slits 1s increased by 50 cm. the fringe width becomes

choh a0t HOE HArKeS?, HDLe S0y drdo 2 mm 56ckn 888, HDge S Inly
tiro 100 cm éiaaped, ;;’e% Stfeny 0.36 mm. Hoge sy HirdEnd 0.5 mm e‘:égoﬁ,
HDEe ok B8 Brdsnd 50 cm oS, HE ey
Options :
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0.72 mm
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Question Number : 104 Question Id : 64041116904 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
An electric dipole with dipole moment 2x107!° C m is aligned at an angle 30°

with the direction of uniform electric field of 10*N C!. The magnitude of the
torque acting on the dipole 1s

2x107° C maggd grsvso Ko a8 DS aygdo 10°N C're a8 D868 DS

=

3@6 858" 30° &fo T Do &8 BsyHo A ¢r8)

[
Options :
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Question Number : 105 Question Id : 64041116905 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

If a dielectric slab of dielectric constant 3 is introduced between the plates of a
capacitor having electric field 1.5z N C~., then the electric displacement is
8P %Dvoéo 3 Ko 2.8 B9 63y 1.57N i DeSxd é@‘éo e Bardeb Hese i
&0DD, Higd ﬁg?ﬁ@oéo

Options :
a5 o 10712 -2
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Question Number : 106 Question Id : 64041116906 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

An electric charge 107 pC is placed at the origin of x-y plane. The potential
difference between points A and B located at (\EHI.\EHI) and (2m.0m)
respectively is
X-y 006 fre Do) éc‘ﬁ 10° nC ey {'.:l-cc.u‘gc'f )) GoTedD. HEITE {\/_111 \[_111]
Hbchn (2m,0m) o $5 &5 AHochn B Hodhide g SrEReHS 5o

Options :
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Question Number : 107 Question Id : 64041116907 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

If each resistance in the figure 1s 9 Q. then the reading of the ammeter (A) is

He06" SrhE ($8 80 9 Q eond, &05)3,&363 (A) 6&0i%
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Question Number : 108 Question Id : 64041116908 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The area of cross-section of a copper wire is 4 x 10~ m? and the electrons per
cubic metre in copper is 8 x 10%. If the wire carries a current of 6.4 A. then the
drift velocity of the electrons (in 107 m s™) is

2. oof HK By ﬁ)ﬁﬁ,&é&ﬁﬁ Sex0 4 % 1077 m? 508050 ooh H5EP 2.8 5085 Sredstd
B 2 &~ 5 = - = =
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Question Number : 109 Question Id : 64041116909 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

If a current of 15 A passes through a solenoid of length 25 cm. radius 2 cm and
number of turns 500, then the magnetic moment of the solenoid is

25 cm r&5), 2 cm agrdo 8ot 500 ey DJogg SOAD el FEDmron&St 15 A

DeSxuS (HDerohidi), © DDTrond edhalesd (grindo
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The maximum magnetic field produced by a current of 12 A passing through a
copper wire of diameter 1.2 mm is

1.2 mm &0 Ko oeh XS H85%r0d 12 A D85x8 Harsro EDR0D pfars! edhaos
ﬁ@o
Options :
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Question Number : 111 Question Id : 64041116911 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Two moving coil galvanometers A and B having identical springs are placed in
magnetic fields of 0.25 T and 0.5 T respectively. If the number of turns in A and
B are repsectively 36 and 48, and the areas of the coils A and B are 2.4 < 107 m’
and 4.8 = 107 m’ respectively, then the ratio of the current sensitivities of the
galvanometers A and B 1s

}66&;”:0 by i?:\oﬁe_;) Kex Dot E68 E‘sﬁrﬁ:ég m@qmﬁb-&:-éj A b B dmame 025 T
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The self inductance of an air-cored solenoid of length 40 cm., diameter 7 cm
having 200 turns 1s nearly
artisy 40 cm, amgbo 7 cm s0bcin héy Koz 200 EOA B &5 Ko 2.8 P0aronk

L’qucfao [ﬁjéé 55_.0 Todetore
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Question Number : 113 Question Id : 64041116913 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

) ) ) 1 : i :
A coil of inductive reactance ? Q) and a resistance 1 Q are connected in series
iy |

toa 200V, 50 Hz ac source. The time lag between voltage and current is
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Question Number : 114 Question Id : 64041116914 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

If the magnetic field in a plane progressive wave 1s represented by the equation
B, =2x107sin(0.5x10°x+1.57x10"t) T, then the frequency of the wave is
(In the equation time t is in second)

&8 $de HE e Storos® wahamos SEed)

B, =2x107 sin(0.5x10°x +1.5mx10"t) T 3888608 S0, e oo F:5:d%50
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Question Number : 115 Question Id : 64041116915 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

When photons of energy 8x107° J incident on a photosensitive material. the

de Broglie wavelength of the photoelectrons emitted with maximum kinetic energy
15 10 A. The work function of the photosensitive material 1s uearl}’

a8 P° Brg e Serfon 8x107° T 48 Ko §Pemben HESHSIHS ST
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Question Number : 116 Question Id : 64041116916 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
The minimum wavelength of X-rays produced by 20 kV electrons 1s nearly
20kV OERe Hg ﬁé;écﬁzé X-88esrer EDF EB0Ka8 g0 Ddrdre

Options :

L 0.62 A

Question Number : 117 Question Id : 64041116917 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

If the half-life of a radioactive material 1s 10 years. then the percentage of the
material decaved in 30 vears is

2.8 éﬁﬁ??@éé E.’Jt;mgo D), 08ddd oo 10 Soddoren, wond sﬁmgo
4 (] [ z

30 Hoddores® Zaho 308 S0

Options :
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Question Number : 118 Question Id : 64041116918 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

At absolute zero temperature. an intrinsic semiconductor behaves as
D85 Erds e 58 e Hegrde efariro (BN
it £ G o o —=

Options :
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Question Number : 119 Question Id : 64041116919 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The logic gate equivalent to the combination of logic gates shown in the figure 1s

A— >0
B—>0

Options :

L v AND

NOR
2. %

OR

3. %

NAND
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The heights of tansmitting and receiving antennas are respectively and

20000

20000 times the radius of the earth. The maximum distance between these two

antennas for satisfactory communication in line of sight mode 1s

(Radius of the earth =6.4x10° m)

e
20000 80000
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Question Number : 121 Question Id : 64041116921 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The work function of Cu is 7.68x1071° I If photons of wavelength 221 nm are

made to strike the surface of the metal. the kinetic energy (in J) of the ejected
electrons will be (h=6.63 = 1074 Is)

L » e e e B o
Cu &ty 230 (3ocoo 7.68x10 J. 85024 o 221 nm ex Ko £Rerdih Erdieod

shety 3h amshdy dugs Aeedd (Jo&f) (R=6.63 x 10734 Js)
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Question Number : 122 Question Id : 64041116922 Question Type : MCQ Option Shuffling : Yes Display Question
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Correct Marks : 1 Wrong Marks : 0

In an element with atomic number (Z) 25, the number of electrons with (n + /)
value equal to 3 and 4 are x and y respectively. The value of (x +3) 15

2% sogy (Z) 25 He Srregodt (n+1) Dend 3 Hbohe 4 % Srdore i
JevsSe sogres Storre x shfcks B (x + ¥) Dend
et A
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Question Number : 123 Question Id : 64041116923 Question Type : MCQ Option Shuffling : Yes Display Question
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Among the ions Mg*~, 0", AT, F~.Na” and N°~, the ion with largest size and
ion with smallest size are respectively
Mg®", 0%, APY, F, Na” %ocw N>~ ocirge®, o
SO0 B BBITR0 Ko VARS SHIP
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Question Number : 124 Question Id : 64041116924 Question Type : MCQ Option Shuffling : Yes Display Question
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The correct order of increasing bond lengths of C—H.O-H,C—-C and H-H
15
C-H,0-H,C-C oo H-H 20680 je0 280 $85 (EHo
Options :
O=Hz=H-H<(—-CsUC=H

1. %

$3C—C{C—H{H—HQC}—H
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Question Number : 125 Question Id : 64041116925 Question Type : MCQ Option Shuffling : Yes Display Question
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The sum of the bond orders of D;._D?,D;,OE,O 5 and sum of the unpaired
electrons present in them respectively are
O%+.O§_,03+~05~02 © DoPBEIre Iwdo oW TS &F) wSKEEd Q@EE:&
Sngo SBdre

Options :
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Correct Marks : 1 Wrong Marks : 0

2.0 g of H, diffuses through a porous container in 10 minutes. How many grams
of O, would diffuse from the same container in the same time under similar
conditions ?
X 3B > oxoe 2.0 g © H,, 10 Apaped® agsto Sobod. 8 S0
©08008° ©F F oD IR (rSwe O, 7500 Jothae ?

Options :
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4.0
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Question Number : 127 Question Id : 64041116927 Question Type : MCQ Option Shuffling : Yes Display Question
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Correct Marks : 1 Wrong Marks : 0
At T(K), the up, of CO, is 412 ms™'. What is its kinetic energy (in kJ mol ™)
at the same temperature '?&(C‘DZ =44 u).
T(K) 88, CO, @05 uyyg 412 ms™. o8 e 58 ood #8283 (kJ mol ' ©&)
oo ? (CO, =44 u).

Options : )
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100 mL of aqueous solution of 0.05 M Cu®" is added to 1 L of 0.1 M KI solution.
The resultant solution was titrated with 0.01 M Na,S,O, solution using starch
indicator till blue color disappeared. What 1s the v ohune (in mL) of Na_S,0,

used ?

100 mL & 0.05 M Cu>" aordeed), 11 0.1 MKI 88 38080, 288 Seed)
T8 ZrOEHBTrA0D ADBorh HSPo oo 0.01 M Na S 0, eSneos®
WOISPIS0 BT, DITPACSDES Na,S,0, $08568me0 (mL o&®) Jog ?

Options :
2000

1. %

1000
W

Question Number : 129 Question Id : 64041116929 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Consider the following.
|Bolardd) BBtHochain.

Statement-I : Both internal energy (U) and work (w) are state functions.

sTs -1  woedbd 48 (U) &:basn 239 (W) Botor 28 |Sabhoben

Statement-11 : During the free expansion of an ideal gas into vacuum, the
work done is zero.

avgeg -1 Doe¥ @&C@m@ﬁm@ éjﬂ?ﬁegoeﬁﬁﬁjé aggsaﬁ'o e At aol: SIERVIRVEVIREVENY

The correct answer is
DBCE saTeE0

Options :

Both statement-I and statement-II are correct
vl @080 argr-1T Botoe HBEhE.

1. %

Both statement-I and statement-II are not correct
sregps-1 9800 arge-IT Do e HBEHND ==&,

2. %



Statement-I is correct, but statement-II is not correct

J‘E&JES'I DBCHNG, 5= aaéaaeg-ﬂ alesvinialiccn
3. ®

Statement-I is not correct, but statement-I1 is correct

gl BgHEE ercl, =R argas-11 Bk
4.

Question Number : 130 Question Id : 64041116930 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The signs of A,H® and A,.S° for a reaction to be spontaneous af all temperatures
respectively are
o) esfige I8 o8 IG) JoBSDH ALH® 2BAm A,S° © Hfen SHIe
Options :
posifive, positive

BorehBo, Sorehto
1. ® () ()

positive, negative
— oy - =t
5 % B3 éﬁuo, &mﬂéeuo
negative, uegative
BerS)Zo, Lerd)E

3. %

negative, positive
G50, Srd)s

Question Number : 131 Question Id : 64041116931 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The conjugate base of phosphorus acid is x. The conjugate base of oleum is .
What are x and v, respectively ?

FVBR v sroeNied gpdo x. LDaho ) Sroernie T80 V. x HBAD ¥ e I
2D?
Options :

H,POJ. HS,07



H,POj3. HSO3

H,PO3, HS,07
3. ¢

, , H2PO3. HSO;

Question Number : 132 Question Id : 64041116932 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

At T(K), K value of AO,(g) + BO,(g) = AO,(g) + BO(g) 1s 16. In a closed
1 L flask, one mole each of AO, BDj AO; and BO are taken and heated to T(K).
Identify the correct statements “about this equ]llbuum

T(K) 3¢ AO,(g) + BO,(2) = AO,(g) + BO(z) © K_2en3 16. 2.8 5r0d 1L
@:;E*@" 2 ’“:"“ e TP L\O , BO ~A03 S8 BO o &55°9 T(K) 36%
SEDTH. & ISz =88 Komoho i‘J 3OS egapess HgoSod. (only = SmEdD)

(00

[) Total number of moles at equilibrium 1s 4
Joedd 5§ Imdo Ird) Sogy 4
IT) Atequilibrium, the ratio of moles of AO, and AO 15 1 : 4
$ozeps 38 A0, batn A0 0 3») D8 1: 4.
ITT) Total number of moles of AO, and BO, at equilibrium is 0.8
$Hep8 58 A0, S0 BO, © Sndo Fnd) Sogy 0.8
Options :

. I. IT only

I, IIT only

. I1. IIT only

I II III
4.

Question Number : 133 Question Id : 64041116933 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0



Identify the hydride which 1s not correctly matched with the example given in
brackets ?

EFEEE° 2R amrns® O TTEE SOT asteHards” HBoHED.

Options :
Saline hydride - (NaH)
?@5 - (NaH)

28R
1.% =
Electron rich hydnde - (H,O)

J)@E@ LHBOMT K ?@5 - (HP_D)

2. %

Electron deficient hydnide - (B,H,)
SO JRdE Ko E’F@E -(B,H,)
R =) = = 20

3. %

Electron precise hydrnide - (HF)

L QOERy E)Sore He TEEE - (HF)

Question Number : 134 Question Id : 64041116934 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
In Solvay process, NH, 1s recovered when the solution contaming NH,C/ 1s
treated with compound 'X'. What 1s 'X' ?

FO a’:g@é’s NH, 9 33:2x% BohRd NH4C! ey el X' o SSngkos®
S8 Tobard. X' okt 26 ?
Options :
Ca(OH),

1.v

C‘asz

2. %

. » NaOH

, « NaCl

Question Number : 135 Question Id : 64041116935 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0



Which of the following reactions give H, as one of the products ?
(Reactions are not balanced)

Bob @ Stten H, & a8 [Boiradtorr adron ? (S8en Hexo Ichadseh)

(only = &m=|Ea0)

I1I) A/ + NaOH +H,0—— IV) BE; + NaH——
Options :

I. II & III only

IT & IV only

I & III only
3.9

IL. III & IV only
4. %

Question Number : 136 Question Id : 64041116936 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Consider the following.
B0l B8rBochiio.

Statement-I . CCl, does not undergo hydrolysis. But 8iC/, undergoes
hydrolysis.

g -l : CC£4 %ﬂ&)ﬁaﬁwo Soss. s Si'il!4 ea@&)ﬁ&ﬁeaéj
Sheelooh.

Statement-11 :  Thermal and chemical stability of GeX, is more than
GeX,

areg -11 . GeXy cﬁnﬁgﬁ%@b Sobotn Barchi Hso GeXj SOE XS

The correct answer is
0Bk Maloeredo
Options :
Both statement-I and statement-II are correct

s gl &oBcho arg-1T Botoe HBghH.
I



Both statement-I and statement-II are not correct
syegs-1 $00050 argc-IT Bo e B EHEd =rdy.

Statement-I is correct, but statement-II is not correct
arep-1 DBEHEE, e=f) argng-Tl XBEHRE seih.

Statement-I is not correct, but statement-II is correct
syegps-1 DBCHEE erdin, sR) agag-TT KBGHRE.

Question Number : 137 Question Id : 64041116937 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which one of the following gases is the major contributor to global warming ?

e £ - — % f TV i
Bob sraindHed® 06 ¢rif¥o FRE08 Hord st ?

Options :
CO

1. =

CO.

(]

2.%

CH

N,O

~

Question Number : 138 Question Id : 64041116938 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0



Match the following
Bob s e3eithdim

List-I (Use) List-TI (Substance)
=1 (88@ri0) i1l (‘é'am'ﬂgo)
A) Electrodes in batteries I) Polypropylene
agtrbedt 5;=t;|:§j§m FDEEHHS
B) Welding of metals IT) Polyacetylene
o ws8to FOIHBOS
C) Toys IIT) Oxyacetylene
&°slngen ?3&1} SHBOS

The correct answer 1s
sleloniinistabaniiale!
Options :

A-III, B-II, C-I
1. %

- A-TI. B-III., C-1I
A-II. B-I. C-IIT

A-I. B-II. C-III

Question Number : 139 Question Id : 64041116939 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

What 1s 'Z' in the following reaction sequence ?
Bob SogEsoos® 'Z' b ? (alcohol = eepsts: colourless = BorbEn)

- ) i) KOH/aleohol _.  H,0
Cilig— 22 o X E'.i.lll. _ aleohol i +
CCly (colourless) | i1) NaNH, . A Hg7 . H

Options :
Acetone

D2e555

1.v

Propanal

- |EB5ared



Propanol-2
EENSES-2

3. %

Methoxy ethane
5]3@’3.%:; %38

Question Number : 140 Question Id : 64041116940 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
A metal crystallizes in simple cubic lattice. The radius of the metal atom 1s x pm.
. . . 3
What 1s the volume of unit cell in pm~ ?
2.8 &m0 ot o erefodt F’:ﬂ:eﬁ-%éé%o 3008, S HEFEED a%:%cgeﬁ:ﬁ

X I GRS S DodHbErmo pm ofd Joi ?

Options :

3
T

Question Number : 141 Question Id : 64041116941 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
At T(K). the vapour pressure of water i1s ¥ kPa. What 1s the vapour pressure
(in kPa) of 1 molal solution containing non-volatile solute ?
T(K) &2, beé mwﬁﬁjcﬁsﬁém x kPa. P:"lw;’;:‘:%a: oeD&5nd) 1 molal (odees) w?”._iitﬁbm

(kPa &5°) 2o ?

Options :

| L018x
0.8 x

2. %

s % 0.972x



0.982 x
4.9

Question Number : 142 Question Id : 64041116942 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Elements X and Y form two non-volatile compounds (XY and XY ;). When 10 g
of XY 1s dissolved in 50 g of ethanol. the depression in freezing point (ATy) was
5.333K. When 10 gof XY ; 1s dissolved in 50 g of ethanol, the was (AT;) 2.2857
K. What are the atomic weights of X and Y respectively ? (K =2K kg mol™)
X 5080w Y dureseen Botd &ﬁ-aﬁa’%ﬁ@ éfmﬁ@”@?@iﬁ: (XY $6ain XY,) B B0,
10g e XY D 50 go a5330668° £6R0D5HS Hodeds &% dips (ATy) 5.333 K.
10gXY,050ge 2 SE" EBRoD[HD (ATy) 2.2857 K. X &b6csm Y o H5858mem
aroeen B85 doé ? (K.=2 K kgmol ™)

Options :

50u.50u

1. %

) % 2501, 25u

7510, 100 u

3. %

515
v 25u. 50u

Question Number : 143 Question Id : 64041116943 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

In a cell. a copper electrode was used as a cathode. What 1s the elecrode potential
(in V) of the copper electrode dipped in 0.1 M Cu®" solution at 298 K ?

2.303RT
© . =034aV:ZT= " _0.06V)
Cu~"/Cu F

a8 foeodd, 556 g}e_;[‘é'Ech%‘fb 866 addrfoo®. 298 K 88, 0.1M Cu?t [oedesost

F00DS =56 QoS o (V od) dod ?

(E

2.303RT
€S ,.  =034V:Z" " -0.06V)
Cu~"/Cu F
Options :
0.34
1%
0.31

2.



0.37

0.40

Question Number : 144 Question Id : 64041116944 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

R——P is a first order reaction. The concentration of R changed from 0.04 to

0.03 mol L7! in 40 min. What is the average velocity of the reaction in mol L1
= g
§

R——P a8 @55 Biros S8 Rrgd 40 ddhared® 0.04 {oé 0.03 mol P
% $7B0B. 385 $oed8 Fo mol L1 s ed® dos 2
Options :

2.5%x10~%
1. ®

G (D
- 4.167 <10

4.167x10°
3. ®

W—
4 % 25%10

Question Number : 145 Question Id : 64041116945 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Choose the incorrect statement from the following
Bot a8 H0d DOseR) Ry RS oW

Options :

Brownian movement and Tyndall effect are shown by colloidal systems

EF°Raha Sedo Hdchn Sorrd HOS0iH Eerontie Hi3iken (B8 -rRow.
2 & o —=

Hardy-Schulze rule is related with coagulation

a’jaé—?émfj Rchsho HotHnds JonohodNa.
2. % = F 7



Gold number 1s a measure of the protection power of a lyophilic colloid

o 2.8 e@radE Bepond ab 0¥ HOEEE ﬁmaﬁ}g\oéé SPe ™o ﬁ5§ Sosy.

Aerosol 1s a colloidal system in which gas is dispersed in liquid.

y QonBiFrS e ($H0S° =aing DEHSo J08% a8 Eeronk 353520
4.

Question Number : 146 Question Id : 64041116946 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following statements regarding adsorption theory of heterogeneous
catalysis 1s not correct ?

DezmdichH t%lé;itﬁaa wbHSiHes r:csco@oééj Homobod) (Bob o a‘p“mﬁ“ 06 HBselH ?
Options :
The reactant molecules get adsorbed on the surface of the catalyst

e@;ééo 6588003 (Boiraidd e «f8Hno otharon.
% &

The chemical reaction occurs at the surface of the catalyst

- E—é, S8 abdeoR Barchd “’\-655 a3tithehob.

The product molecules remains permanantly bound to the catalyst surface
(Bciresily eeashen éé;;fﬁé 60807 FPHRSore wofodal; Gotron.

The catalyst remains unchanged in mass and chemical composition at the
end of the reaction

aﬁUzuqoéo@ ﬁ|€‘§;ﬁ5é (5535078 EHBA Barahi Hoxherde & Rendod e Telafail

Question Number : 147 Question Id : 64041116947 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Which of the following are carbonate ores ?
Bob &S DO 5°5°23$*‘-*“ 08 pleren ? (only = SrEsh)

I. Siderite II. Kaolinite
0 Eand3es

III. Calamine IV. Sphalerite
SRR T 8e5

o/

Options :



I II only

1. ®

IT. IIT only

- I. IIT only

L II. IV only

Question Number : 148 Question Id : 64041116948 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

011]101311051)1101115 acid on disproportionation gives PH; and another oxoacid of
ph@spholu& . The basicity of X is

_“:'n., Yo etho wdihardo Job PH3 so8cin b8 —mu ) e:aé"‘ mapo X' ®
a@o&;_ X cing) geies

Options :
1. % 2

Question Number : 149 Question Id : 64041116949 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the incorrect statement regarding the interstitial compounds
E&Tﬁ;@e‘é[ﬁcg :63"33,3?;’ o Doofod) $Bs0 —T"“E,J,,Efb 1oBodob

Options :
They have high melting points

HB8 wb¥ (15De5S fgmm S0EIP00
1. ®

They lose electrical conductivity during the formation from metal

) 29 &%ro Hod W BEDE sy %ﬁéﬁ;@cm}



They are chemically inert

28 BarchEorre esteeg)y BOA eotrom

They are very hard.
HAE »H¥ rﬁ%cﬂaﬁo &0tnob

Question Number : 150 Question Id : 64041116950 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Which of the following exhibit ionization isomerism ?
(Bod &P HD wahdESes e FR (5858Ron ? (only = S| )
I) [Cr(NH;3)4Cl,]CI II) [Ti(H,0)sC/](NO3),
111) [Pt(en)(NH3)C/]NO;3 IV) [Co(NH3)4(NO;3),INO;

Options :
LV II & III only

I & II only

2. %

II & IV only
3. %

, M&IV only

Question Number : 151 Question Id : 64041116951 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

A polymer sample contains 10 molecules each with molecular mass 5.000 and
5 molecules each with molecular mass 50.000. The number average molecular
mass of the polymer sample is

2.8 ardiub %“050&;65@’3 3,55% ©e0s) (3a5o=8 5,000 & Ko wmdHen 10 Hdchn a8Y
we0s) (Sd5oe8 50,000 & Ko ecen 5 samow. D6 B0 D0 Hogy ©em

(e53550°8

a8

Options :

4
L 2%10

3 x10%
2. ®

2 % 10°



3 x 10°

4. =

Question Number : 152 Question Id : 64041116952 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following do not reduce Tollens' reagent ?
Bob 58S D eﬁﬁaf s=5sf)) EohEtmo JoboLba) ?
a) Fructose b) Sucrose ¢) Lactose d) Cellulose
a) {ﬁ:f b) E’E c) *5:35: d) 2engstE
Options :
a.b

Question Number : 153 Question Id : 64041116953 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Consider the following.
|EofarEf) HBridHoiEim.

Statement-I . Lysine, arginine are essential and basic amino acids

S| 5 ahg, wBden widy Sbobo gl S80S oo

Statement-II : Leucine, phenyl alanine are non essential and neutral amino
acids.

argang 11 L by, D3 eadSod Shvpnl i ahlalein) eiééa§ QEDS® e

Correct answer 18
N alon v IRk Te)
Options :
Both statement-I and statement-II are correct
arepg-T &oBcho argg-T Boioe HBEHE.

Both statement-I and statement-II are not correct
srgg-1 oBcho -1l Bothr B EHRD =0



Statement-I is correct, but statement-II 1s not correct

o=l HBEHEE, eof) armgps-TT XBEHRE seth.
3.9

Statement-I is not correct, but statement-II is correct
gl BgHEE ercly, =R argas-11 XMBgHHE.

Question Number : 154 Question Id : 64041116954 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Consider the following.
|BofarEhd) BBrdociain.

Statermnent-I . Shaving soaps contain glycerol to prevent rapid drying

T -1 T 80k Happo o &8 FBodBRKoEe GoXerd AHE%E5H <DA
BOET0M0,

Statement-II : Laundry soaps contain sodium carbonate as filler

apg -1 : erold Nappn, Achan 505‘;}69&5@: Db 0P ssotom.

Correct answer 18
2BoHE HNEgrio
Options :
Both statement-I and statement-II are correct
vl @060 -1 Botoe KB EhH.

1. ¢
Both statement-I and statement-II are not correct
sregpg-1 08050 arge-IT Bo e HBEHND ==&

2. %
Statement-I is correct, but statement-II is not correct
aregpg- BCHEE, e=f) argpg-TT XBEHRE et

3. %
Statement-I is not correct, but statement-II is correct
aregpg- BCHNE erdi, seR) arges-T XBghHa.

4, %

Question Number : 155 Question Id : 64041116955 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0



Which of the following sets of reagents convert aniline to chlorobenzene ?
Bob & so8see DL 20DHTH §%6° BodSre Srtbiod ?

Options :

- NaNO, / HCI, 273 - 278 K: Cu,C/, / HCI/

NaNO, / HCI, 293 - 298 K: Cu,Cl, / HCI

2. %

NaNO, / HCI, 273 — 278 K: SOC/,
3. %

NaNO, /HCI. 273 - 278 K: Cl,
4. %

Question Number : 156 Question Id : 64041116956 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the compound which 1s least reactive towards nucleophilic substitution
reactions.

EvEToR Ty S 8556 Bse Sy eden é-zjcg%@eﬁ He Kely#Fdosd HBodham.

Options :

CH,C{
1. %
Cs
0O,N
2. % 2
Ct
3. NO,
CHE =CH - CHECf
4. %

Question Number : 157 Question Id : 64041116957 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes



Correct Marks : 1 Wrong Marks : 0
An alcohol X(C5H;,0) on dehydration gives Y (major product). Reaction of Y

with HBr gave Z(CsH,;Br. major product). Z undergoes nucleophilic
substitution in two steps. What are X and Y ?

28 sep$s X(CsHp,0) gjgj@éé%oéﬁ Y (Eors 68i0)d adhod. HBr Y ST ol
Z(C 5H“BI'. B &0 kb ahob. Both woded® Z NSNS {éﬁ%é‘:ﬁs@ Dothihob.
X %8650 Y e 2 ?

Options :

) OH

A

Question Number : 158 Question Id : 64041116958 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

What are X and Y respectively in the following reaction sequence ?
(Bots =kads Sovg (Esoos® X 508050 Y en $5HdHre 9 ? (g = srains, dil = ds)
CHO

CoHs0H

diLlHC!  ~,
HCi() X >Y

W

O,N

Options :



CHO
s sl
0,N 0,N
¥
et O~
0’/N\“
: 0*""\
O,N O,N
2. ®
o S OH
o~ N
b
0O,N 0,N
3%

OH
/@/\0/\\ | OH
0,N 0,N

Question Number : 159 Question Id : 64041116959 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The carboxylic acid with highest pK_ and lowest pK_ values of the following
respectively are
Bob s»B&° wdhHE pK, H8din ede) pK, Heoden EOAS scon8 08 e HS6dne

COOH COOH COOH COOH

U [:j::] : [:j::] . [:j::J IE)[::::}
I CN CH; NO,



Options :

L, LI

LIV
2. %

III, IT

v LIV

Question Number : 160 Question Id : 64041116960 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
The % of catbonin 'Z'1s (Atwt. C=12u.H=1u. N=14u,0=161u)
'2' $oth 5o Tdo (Atwt. C=12u.H=1u N=14u,0=16u)

CH;

73K i Cu.A

NH,

Options :
71.3



